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SBF_-TH 171 392 177 215 2 -1 3
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BEFEOTH 117 279 129 150 0 -1 1
WA AB—TH 237 552 269 283 5 1 4
WA HBE=TH 179 436 197 239 2 0 2
WEAAHB=T8H 201 537 216 321 -1 0 -1
WA HIEmTE 138 305 138 167 10 -1 11
WEAAHBETE 587 1,484 673 811 13 2 11
B @ i o 10,034 | 25103 | 11,779 | 13,324 wy 3 20
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£ B E 696 1,828 898 930 6 3 3
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FILZ-TH 443 1,108 528 580 -10 -1 -9
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AMZTH 863 1,545 129 816 4 0 4
AM=TH 542 1,130 537 593 -1 0 -1
AfmTH 141 1,581 166 815 -8 -1 -1
AMETH 703 1,588 126 862 6 3 3
AMATH 513 1,063 508 555 -8 0 -8
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X i 1,352 3,142 1,545 1,597 -7 -5 -2
= g 287 860 425 435 8 0 8
AHE—TH 1,526 3,524 1,736 1,788 -3 3 -6
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